Integrated Task-TPO-43 (Agnostids)

The reading states that there are several ways that agnostids, arthropods-relatives of today's insects, might have lived. The lecturer challenges the statements made by the editor.
First of all, the author argues that agnostids habitat by hunting some small animals in the ocean by swimming since other kinds of arthropods had a high ability in swimming and hunting. Conversely, the lecturer brings up the idea that all of the arthropods which were good swimmers had high eye quality. On the other hand, agnostids not only had weak and small eyes but also some of them were blind. Also, due to the fossil records, they didn't have any organs that make hunting possible.
Furthermore, the reading passage holds the view that agnostids lived on the seafloor for, similarly, some other primitive arthropods have been lived in this way. In contrast, the professor declines this opinion due to the fact that arthropods which had dwelled on the sea surface were some slow animals that often lived in small certain areas, but agnostids had the ability of fast-moving to other places. Moreover, they occupied a vast state of the ocean which is so unusual in the seafloor organisms.
[bookmark: _GoBack]Finally, the reading states that agnostids might have been parasites because of some new large arthropod species that are parasites like fleas, ticks, and mites. again, the professor disagrees with the statement due to a major reason. Parasites, always, have a small population in an area because a large number of parasites would destroy the host state. As a result, agnostids which had a large quantity in a single area (due to the fossil records), could not be parasites.
